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Why mention 7315R; it applies also even to everyone else

OVERVIEW

The previous MooIn taught' that there is a greater w171 in that a regular creditor
(who is not owed 72 °X1n2) has to swear in order to collect from 2°21°, than there
is by mYx since she is owed 7"2 °Xin2 (even though there is a wv11°n [also] by
m1a9x for it is a case of 11 71n). This explains the question 121 7IAPR RN XA,

mooIN anticipates a possible answer to the s'8723 question and rejects it:
— 2n53wnYm 1WINIT XOYD SINNY S¥2T DIVN IN)

And if you will answer that he mentions 7InoR specifically, instead of making a
general statement because since he wanted to teach in the X% that 72

refrained from administering an oath to the 71m%x, therefore he mentions 77X also in

the Xw»7; this is not a sufficient explanation for -
— 135N NN $AUNTN 1IN NPIAWA RIN DININ? 39231 199 PR 23N1Y 1Y NN

The mw» should have taught aUIEARA KON 2900 Se0In °Y901 N n a general
sense, and conclude that 7'"2 refrained from making the ;71»%x swear.

mMdOIN continues to explain the s'x 3 answer:*
— 2N J¥235 90 NININI WITN 5N 119D NIPIVNNR NININ 2IUN)

And the X3 answered; it was necessary to mention 732X, for there is a
greater novelty by an 7125, than there is by a creditor -

Ppxoamy.
* The proposed answer is that even though 7% may be a lesser w1 than ni"va, nevertheless since 7K is
mentioned in the X9°0 that should compensate to allow us to mention ;7327X specifically in the X2 (even though it is
a lesser vh7n).
? The fact that the 73w» mentions 739X in the X5°0 is not sufficient cause to mention the particular case of 7129X in
the Xw" (since it is the lesser w17°n) instead of the more general rule that no one collects 210 0311 without a y1W.
In addition 71%% would anyways be mentioned (specifically) by the mawn stating 73?8 NX ¥>2win WA, indicating
that initially an 717X was required to swear.
* Mmoo perhaps assumed initially that the answer of the X7»3 merely means that there is also a W1Tn by MoK
(regarding X11). This would not be a sufficient answer; for there is a (great) w17n by a n"va as well (see
‘Overview’), why therefore should we write 717X instead of n"va since it seems they are equal (a w17°n by each
one). In addition, the 7awn is mentioning (the w171 of) 717X by stating in the X2°0 that (712987 NX) YWD WA
(see previous footnote # 3). Why is it that necessary to mention it (again) specifically in the X7? Therefore n1vo1n
responds that when the X713 answers 7% X2™MDX°R 7M9X it means that the w171 by 79K (X1 and 1121 70 together) is
greater than the v17°1 of n1"v¥2 (that it is not a 7">2°X1n). This greater W17°n warrants that it should be mentioned (again
[this may be the meaning of "n1]) specifically in the Xw™1. See the X"wnin (for a different explanation), and (the
comment of) the "W 2"77n (that Mn»n 77 PRT PMIN).
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And therefore the 71w» mentions 71»%R also in the xw.

SUMMARY
The wyn of maoX is sufficiently greater than n'"va, which warrants that it be
mentioned specifically also in the X" (and not just merely X970 10X X7 RiN).

THINKING IT OVER

1. If the mwn would not have mentioned 719X (in the Xw»), would we have
assumed that (initially) an 7329 is not required to swear in order to collect 021
on°? If so, would that be because of X1°11 or because of 11171 71n0?

2. The X713 answers that the 71wn mentions 79X (in the Xw™) because of Xi1om;
seemingly indicating that if the mawn would not write 732%X in the X9, we may
have assumed that 7In?R does not swear. However since the miwn could have
written 71298 DX ¥72Wnon WIn 7Y1awa ROX 2707 °021n Pyl PR, this would assure
us that initially the 712%R was obligated to swear. Why is it necessary to write 7125
specifically in the X" instead of making a general statement?’

> See previous footnote # 4 (in the bracketed parenthesis).
% See “Thinking it over’ # 2.
" See 17 7.

2

TosfosInEnglish.com



